AP Physics – Magnetism 2 LP
Force on Current carrying wire  in Mag Field
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Wire has length  l  

goes through B

magnetic field perpendicular  to wire and goes into page,
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If wire not perpendicular,
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( is angle between B and the I direction 

If field in direction of current, force is zero

· Wire has I of 12.5 A.  It goes east to west.  Mag field goes south to north and is  horizontal.  B is 55 (T.  Find force on 25 m length of wire.
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Direction of force is down

Torque on Loop:
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A loop has current  I.  In  uniform  B   field

Forces on sides a is zero  --  

I parallel to  B
For sides  b:

F1 = F2 = BIb

F1 is out of the page,  F2 is into the page 
Bottom view.  Forces create torque
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